Add, Subtract, Multiply, and Divide Integers Quiz
1. It was a very freaky weather day. The temperature started out at 9°C in the morning and went down to -13°C at noon. It stayed at that temperature for six hours and then rose 7°C. How far below the freezing point (0°C) was the temperature at 6 p.m.?
a) 3



b) 0



c) 12



d) 6

2. Mary has $267 in her checking account. She writes checks for $33, $65, and $112. What is the balance in her account now?
a) -67



b)-57



c) 67



d) 57
3. You owe $225 on your credit card. You make a $55 payment and then purchase $87 worth of clothes at Dillard’s. What is the integer that represents the balance owed on the credit card?
a) 367



b) -367


c) 257



d) -257
4. If it is -25°F in Rantoul and it is 75°F in Honolulu, what is the temperature difference between the two cities?
a) 50



b) -125


c) -50



d) 100
5. Katherine is very interested in cryogenics (the science of very low temperatures). With the help of her science teacher she is doing an experiment on the affect of low temperatures on bacteria. She cools one sample of bacteria to a temperature of -51°C and another to -76°C. What was the temperature difference in the two experiments?
a)25



b) -25



c) 127



d) -127

6. During the football game, Justin caught three passes. One was for a touchdown and went 52 yards. The other was for a first down and was for 17 yards. The other was on a screen pass that did not work so well and ended up a gain of -10 yards. What was the total yardage gained by Justin on the pass plays?
a) 69



b)-39



c) 62



d) 59
7. Suppose the temperature outside is dropping 3 degrees each hour. How much will the temperature drop in 8 hours?

a. -11


b. 11



c. -24



d. 24

8. A deep-sea diver descends below the surface of the water at a rate of 60 feet each minute. What is the depth of the diver after 10 minutes?

a. 600



b. -600


c. 70



d. -70

9. A whale is 42 feet below the surface of the water. She rises 25 feet then finally another 16 feet. If there are no more changes, where is the whale located?
a. 2



b. -2



c. 1



d. -1

10. Mrs. Gaines lost 52 pounds. She gained 12 pounds back and then lost an additional 16 pounds. What is the change in her weight? 

a. -52



b. -54



c. -56



d. -58
11. Sylvia burns 6 calories per minute when she runs. How many calories does she burn when she runs for 15 minutes?

a. 90



b. 80



c. 70



d. 60

12. A submarine is 60 feet below the water surface. It rises 3 feet every two minutes. What is the position of the submarine after 8 minutes?

a. 36



b. -36



c. 63



d. -63

Write an integer for each situation.

13. 376 feet above sea level

14. a profit of $27

15. a withdrawal of $200

16. a gain of 20 pounds

17. A football player lost 10 yards when he was tackled. 
18. You earned $25 for dog sitting. 
19. The temperature outside is 4 degrees below zero. 
20. Tyler and Christina are playing a game in which each player either wins, loses, or draws (ties) at each turn. The winner of a turn is awarded 5 points, and the loser loses 5 points. If it is a draw, 0 points are awarded. For the first eight rounds Tyler had the following results: lose, win, lose, win, win, lose, win, draw. What was Christina's point total for the rounds? Explain your answer.
